[EefmxisRE] T HE R 12 AHMBRERFEGX (HEXETH)

EPERTIR X EPET AT BITH HEE
FEER fotEh HFEE1TH 331
FER fintam HFPEE2TH 289
FER ntsT HFPEE3TH 285
FEE fotsh HPEE4TH 316
FER liciae] EIR1TH 617
FRE fintgrh EIR2TH 1,195
FER fotsth EIR3TH 702
FER Aot EDPAIE] 1,222
FER yiciae] XE1TH 1,666
FER Ayi1ae] ER1TH 1,257
FEIR i=it] ERE2TH 1,527
FER Ants ER3TH 1,530
FER Biiat] ERS5TH 453
TR sl BH1TH 1,842
FER i) B2 TH 1,709
FER Aot B3 TH 2,047
FER BLiciae] BH4TH 1,375
FEIR Aliclae] S5 TH 1,383
FER i1ae] EHeTH 1,454
FER ntsmh EHEI 2 TH 772
FEE Bt EHEI 3 TH 233
FER fint&h EtRETE 1 TH 464
TEIR liciae] EREERE 1 TH 269
FER iciae] EHEE 1 TH 3,138
FHER s BB 2 TH 1,319
FER Biciae] =2X1TH 1,432
FER fintamh =AX2TH 1,206
FER ntsT =46TH 1,619
FER fntsh $425TH 672
FER fot&h £426TH 386
FER fAotgh £477TH 1,026
FRR fotsh SYEHE] 411
FER Biiat] HE3TH 404
FEE ntst SR8 1TH 1,223
FER fotsh SiE82TH 900
FER fotsth SRS 3TH 1,254
FER Aotsth SR8 4TH 677
FER Aot SIRE5TH 928
FER liciae] =SiEBE6TH 1,509
FER Aotsh SR 7TH 1,242
FER Biiat] AR HE] 658
FER fotst =5H&81TH 573
FER ntam =5F&82TH 574
FER Bliclae] XhE1TH 1,173
FRE fotsm XhE2TH 1,222
FHER fintst XNE3TH 699
TR fintemh XhE4 TH 1,533
FER fotsm =X1TH 279
FRE fintsh =X2TH 1,024




#PEATIR i X EFET 44 HITH wE
FEER L Lictat] =%3TH 430
FEEB Pliciasl =x4TH 477
FEE fiatgh =%5TH 664
FEE fiatgh =k6TH 402
FEE fotg =7 TH 419
FEE fintgmh =8 TH 428
FEE Eliciae] = IXH] 38
FEER fintg =1l1TH 1,244
FESR fintg =1u3TH 939
FER fiatgh =114 TH 742
FEER fiotgmh =IL5TH 1,292
FEE fintgh =116 TH 1,054
FER fintar =1l17TH 555
FEE fiatgmh =IL8TH 1,068
FEER fotgh =119 TH 1,232
FEEB fotg L] 1,641
FEE fiatgh M5 1 TH 532
FEE fintg hig 2 TH 199
FEE fiatg his 3 TH 1,086
FEE fintg S HRHE] 1,270
FEER fintsh 21 TH 1,635
FESR fintgh ZIW2TH 1,194
FER fiatgh ZIW3TH 1,055
FEE fats Z4TH 568
FEER fatg ZIW5TH 1,153
FER fatg ZLW7TH 677
FEER Blicitl BEF1TH 874
FEE fintgh BEEF2TH 566
FEER fintgh BEHFS1TH 1,611
FEE fintg BEHFS2TH 2,508
FEE fintgh BEHFES3TH 3,046
FER (Lol BEHFE4TH 4,415
FESR fots BEHFE5TH 1,997
FER fiotgh BEHFE6TH 1,820
FEE fotg BEHE7TH 1,088
FER Clicis] BEe8TH 2,618
FEE fnts Ena 1 TH 1,241
FES PlicLig] a2 TH 1,259
FEER fatg /NEZH] 2,850
FEE fintgh MHhHE1TH 1,314
FER fiotg WMHhE4TH 1,320
FEE fintgh a1 TH 771
FEE fiatgmh a3 TH 743
FEE Rliciatl a4 TH 591
FEE fintg TR HE] 289
FEE fatg R 1 TH 23
FEER fintah mEEHF1TH 1,267
FEER fintah mMaEEE 2 TH 1,139
FEER fintsh mEEE3ITH 1,448
FEE fintgh mEEEF4 TH 870




PRI i X B ET 44 HITH R
FEE fintah fafin 1 T H 1,629
FEE elieiat] Fafh 3 TH 1,077
FER fintgh Fafn 4 TH 2,124
FER fintsrh a5 TH 1,592
FER fints a6 TH 843
FEE fiotg Fafn 7 TH 661
FEE Pliciatl iR 1 TH 2,952
FES fintg pIEfm 2 TH 3,229
FER fintg giEre 3 TH 1,793
FEE fotg R4 TH 2,386
FEE fiotg BIEFE S5 TH 764
FEE fintgh BiEFE 6 T H 1,834
FEE fintg piErE 7 TH 1,053
FEE fintgmh IR 8 TH 1,197
FEE fiatg iRk 1TH 1,017
FEE fintg pIRE2 TH 1,250
FES fintg piRE3TH 1,642
FEE Cliaias] piRE 4 TH 1,216
FEE fiatgh HIERES5TH 2,181
FEE fiotg HIRE 6 TH 919
FEE fiotgmh A7H] 47
FEE fintg ANEE1TH 929
FEE fintg A\ 5TH 529
FEE fintgmh *x7vdk1TH 678
FEER ntEm AR HE] 128
FEEB fintsh wma 1 TH 347
FER fints wa2TH 469
FEE fatg oyl 488
FEE fiatg F¥AR 1 TH 1,072
FEE fiatgmh FEA 2 TH 846
FEE finAgTh Hm1TH 548
FEE fiotg HE4TH 178
FEE fiot@h AEFH1TH 982
FEE fints AE¥FH 2 TH 711
FES fintsrh HEHSH3TH 395
FEE fints HE¥FH4TH 1,475
FEE (Lo TaE] HEFHS5TH 1,013
FEE fiatgh HEHH6TH 698
FER fiatg HAESH7TH 599
FEE fintgh EAE 3 TH 2,012
FEE fintg HintE 4 TH 1,763
FEE fiotg e 5 TH 743
FESB fintg EhlL1TH 1,367
FEE fiotg FhL2TH 1,820
FEB RlicIig] e 1 TH 225
FEB fints EEd 2 TH 10
FEER Bliciat) M=%1TH 727
FEE fints Bm=x2TH 657
FEE fints BE=%3TH 1,236
FEE fints E=%4TH 473




#HERR i X EBET A HTH R
TERE fintE FAHE] 2,062
FER AtE ™ —_=17H 1,777
Tl fAint& —=2T7H 1178
TFER AotET = 2,135
TFERE fAntEm —_HMrE3TH 412
TER AotET —_ME1ITH 227
FEE fAntE™ —_ME2TH 267
TERE Aot&T —HE3ITH 518
TER AotET —M=E4TH 309
TERE ni&m —_HME5TH 1,590
FEE AtET _HME6TH 1,535
TEE fntE T Hodi1 TH 545
TEE fint& IPE1TH 856
TEE nt& A& 2 TH 739
TEE nt&m I\ARNE4TH 231
TEE nt&m AN EHE] 29
TEE AntET fRLiE 1 TH 771
FEE AotE T griLEA] 2 TH 3,585
FERE ntEh ERLEE] 3 TH 4,326
FEE At RET1TH 1,598
TER AotET EHT2TH 2,161
TER fintET K] 140
TEE Aot&T S5 931
FEE fint&m tXET1TH 956
FER fint ZASEPH] 3,732
TFEE Aot APL1TH 824
TEE &t APL2TH 1,726
TEE fintE T AP L3TH 2,484
FERE nt&m AhL4TH 1,826
FERE [RlioiE] APLSTH 774
FER AotET A6 TH 1,108
TERE AR AP 7TH 866
TEE AntET AB1TH 2,158
TEE it AH2TH 2,453
TERE A& ABI3TH 1,633
TEE nt& AH4TH 2,532
TEE Ant&m AHIS5TH 1,885
TEE nt&m AHE6 TH 2,670
FEE (el AHE7TH 2;370
FERE [eliciE] =E1TH 1,092
FER AotE T =E2TH 2,372
TEE fntE Z=E3TH 1,150
FEE ntEm EHa1TH 1,126
TERE nts EHe2TH 868
TEE Aot&T EMH&S3TH 1,168
TERE AotsT EMHES5TH 1,651
FEE AotET EHS56TH 1,215
TFERE AntEH RS H] 202
FER e S5 230,969




